
klws: d`svIN  ivSw: gixq (ie`k AMk vwly pRSn)  ku`l AMk:08 
AiDAwie: 1 

1. 3 ie`k ApirmyX sMiKAw hY[   (shI/glq)

2. ABwj guxnKMf ru`K pUrw kro[

3. do sMiKAwvW dw guxnPl = m.s.v × ______

4. 
17

8
dw dSmlv pRswr ikho ijhw hovygw[

5. hr ie`k Bwj sMiKAW nUM ABwj sMiKAW dy guxnPl dy rUp iv`c drswieAw jw skdw hY[ (shI/glq)

6. ABwj guxnKMf ru`K pUrw kro[

7. pirmyX sMiKAw 13

3125
 dw dSmlv pRswr Swq hY[     (shI/glq) 

8. jykr 𝑥 =
p

𝑞
 ie`k pirmyX sMiKAW ies qrW dI hY ik 𝑞 = 2𝑛5𝑚  dy rUp dw hY 

ij`Qy 𝑛 Aqy 𝑚 gYr irxwqmk sMpUrn sMiKAwvW hn qW 𝑥 dw dSmlv ivsqwr Swq huMdw hY[ (shI/glq)

9. do Dnwqmk sMpUrn sMiKAwvW 𝑎 Aqy 𝑏 leI do ivl`Kx sMpUrn sMiKAwvW 𝑞 aqy 𝑟 huMdIAW hn

ik = 𝑏𝑞 + 𝑟 ,0 ≤ 𝑟 < 𝑏 huMdw hY[   (shI/glq)

AiDAwie: 2 

10. id`qy gey AwlyK 𝑦 = 𝑝(𝑥) iv`c bhupd dy isPrW dI igxqI pqw kro[

11. do GwqI bhupd ivc̀ v`D qoN v`D ikMnIAW isPrW ho skdIAW hn[

12. Gwq 1 dy bhupd nMU ________ kihMdy hn[

13. bhupd 𝑝 𝑥 = 𝑥2 − 3 iv`c isPrW dI igxqI ikMnI hY[ (a)   (b)

14. jykr iksy bhupd dw AwlyK 𝑥 −Dury nUM ikqy vI nhI k`tdw qW aus bhupd dy isPrW dI igxqI ____ hovygI[

15. do GwqI bhupd 𝑝 𝑥 = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 iv`c isPrW dw joV ____ Aqy guxnPl ______ huMdw hY[

16. do GwqI bhupd 𝑝 𝑥 = 𝑥2 + 7𝑥 + 10 dy isPrW dw joV Aqy guxnPl pqw kro[

 AiDAwie: 5 

17. AMkgixqk lVI (AP) dy 𝑛 vyN p`d pqw krn dw sUqr d`so[

18. AMkgixqk lVI (AP) dy 𝑛 p`dw dw joVPl pqw krn dw sUqr d`so[

19. id`qI geI AP  −5, −1, 3, 7 ………… dw swJW AMqr ilKo[

20. id`qI geI AP   3, 1, −1, −3 ………… dw pihlw pd 𝑎 Aqy swJW AMqr 𝑑 pqw kro[

21. AMkgixqk lVI (AP) dy pihly cwr pd pqw kro jykr 𝑎 = 4 Aqy 𝑑 = −3 hovy[

22. AMkgixqk lVI (AP)   18, 13, ___, 3  iv`c KwlI QW Bro[

23. AMkgixqk lVI  47, 41, 35, 29…… dw swJW AMqr (𝑑) _____ hY[

 AiDAwie: 7

24. do ibMdUAW P(𝑥1,  𝑦1)  Aqy Q(𝑥2, 𝑦2)  ivckwr dUrI pqw krn dw sUqr ilKo[
25. ibMdU P(𝑥,𝑦)  dI mUl ibMdU qoN dUrI pqw kro[
26. mUl ibMdU dy inrdyS AMk ilKo[
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27. jykr ibMdU P, do ibMdUAW A(𝑥1,  𝑦1)  Aqy B(𝑥2, 𝑦2)  nMU imlwaux vwly ryKwKMf dw m`D ibMdU hY qW ibMdU P dy

inrdyS AMk ilKo[

28. iksy ibMdU dI 𝑥 −Dury qoN dUrI aus ibMdU dw _______ khwauNdI hY[

29. iksy ibMdU dI 𝑦 −Dury qoN dUrI aus ibMdU dw _______ khwauNdI hY[

30. ibMdU  3,−4  dw Buj ______ Aqy kotI _____ hY[

31. 𝑥 −Dury dy inrdyS AMk ______ hMdy hn[

32. 𝑦 −Dury dy siQq ibMd dy inrdyS AMk huMdy hn[   (a)   (𝑥, 0)     (b)  (0, 𝑥)     (c)  (𝑦, 0)     (d)  (0,𝑦)

33. jykr iqMn ibMdU A,B,C smryKI hox qW iqRBuj ∆ABC dw Kyqr&l ______ vrg iekweIAW huMdw hY[

34. jykr iksy iqRBuj dw KyqrPl 0 vrg iekweIAW hovy qW ausdy isKr ______ huMdy hny[

  AiDAwie: 8

35. tan A  dw  m`ul hmySw 1 qoN G`t huMdw hY[   (shI/glq)

36. iksy vI kox 𝜃 dy leI sin 𝜃 =
4

3
 hovygw[  (shI/glq)

37. mu`l pqw kro: 
sin 18°

cos 72°
= ______ 

38. mu`l pqw kro: cos 48° − sin 42° = ______

39. 𝜃 dy v`Dx nwl sin 𝜃 dw mu`l vI v`Ddw hY[     (shI/glq) 

40. 𝜃 dy v`Dx nwl cos 𝜃 dw mu`l vI v`Ddw hY[     (shI/glq) 

41. mu`l pqw kro: sin 30° = _______

42. jykr A = 0° hovy qW cot A pirBwiSq nhIN hovygw[   (shI/glq)

43. sin(A + B) = sin A + sin B       (shI/glq) 

44. 𝜃 dy swry mu`lW leI sin𝜃 = cos 𝜃  (shI/glq)

45. 𝑠𝑖𝑛2𝜃 − 𝑐𝑜𝑠2𝜃 = 1      (shI/glq)

46. sin 90° − 𝜃 = cos 𝜃  (shI/glq)

47. mu`l pqw kro: 𝑠𝑖𝑛2𝐴 + 𝑐𝑜𝑠2𝐴 = ___________

48. mu`l pqw kro: 𝑠𝑒𝑐2𝐴 − 𝑡𝑎𝑛2𝐴 = ___________     ij`Qy 0° ≤ 𝐴 < 90°

49. mu`l pqw kro: 𝑐𝑜𝑠𝑒𝑐2𝐴 − 𝑐𝑜𝑡2𝐴 = ___________ ij`Qy 0° < 𝐴 ≤ 90°

50. mu`l pqw kro: 9 𝑠𝑒𝑐2𝐴 − 9 𝑡𝑎𝑛2𝐴 = ______

 AiDAwie: 12 

51. kox θ vwly ArD ivAwsI KMf dw KyqrPl pqw krn dw sUqr ilKo[

52. kox θ vwly ArD ivAwsI KMf dy sMgq cwp dI lMbweI pqw krn dw sUqr d`so[

53. ArD ivAws R vwly c`kr dy ArD ivAwsI KMf dw KyqrPl pqw kro ijsdw kox P° hY[

(a)  
P

180
× 2𝜋R            (b)  

P

360 
× 2𝜋R            (c)  

P

180 
× 𝜋𝑟2         (d)  

P

720 
× 2𝜋𝑟2
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54. jykr ie`k c`kr dw pirmwp Aqy KyqrPl sMiKAwqmk rUp iv`c brwbr hY qW aus c`kr dw ArDivAws hY[

(a) 2 iekweIAW    (b)  𝜋 iekweIAW (c) 4 iekweIAW (d) 7 iekweIAW

55. c`kr dy cOQy ih`sy dw KyqrPl = ________

56. 1 sm ArD ivAws vwly c`kr dw KyqrPl 𝜋 vrg sm hovygw[  (shI/glq)

57. 1 sm ArD ivAws vwly ck̀r dw pirmwp 2𝜋 sm hovygw[  (shI/glq)

58. ArD ivAws r vwly c`kr dw Gyrw 2𝜋𝑟2 hovygw[  (shI/glq) 

59. c`kr dI sB qoN v`fI jIvw c`kr dw ivAws huMdI hY[    (shI/glq) 

  AiDAwie: 13 

60. SMkU dI iCMnk dw Awieqn pqw krn dw sUqr ilKo[

61. SMkU dI iCMnk dw vkr (pwsvIN) sqw dw KyqrPl pqw krn dw sUqr ilKo[

62. SMkU dI iCMnk dw ku`l sqw dw KyqrPl pqw krn dw sUqr ilKo[

63. jdoN iksy SMkU nMU ausdy AwDwr dy smWqr iksy ql duAwrw k`t ky ie`k Cotw SMkU htw idMdy hW qw jo Tos bcdw

hY auh ______ khwauNdw hY[

64. SMkU dI vkr (pwsvIN) sqw dw KyqrPl pqw krn dw sUqr d`so[

65. goly dw Awieqn = ________

66. 6 sm iknwry vwly Gx dw Awieqn pqw kro[

67. 8 sm vwly iknwry vwly do GxW nUM joV ky bxI AwikRqI dw nW d`so[

 AiDAwie: 15

68. jykr P(E)=0.05  hY qW P(E nhIN) dI sMBwvnw kI hovygI[

69. ie`k inSicq Gtnw dI sMBwvnw  0 huMdI hY[    (shI/glq)

70. Gtnw E dI sMBwvnw + Gtnw E  nhIN dI sMBwvnw =_________ hY[

71. AsMBv Gtnw dI sMBwvnw pqw kro[

72. ie`k bksy iv`c 3 nIly, 2 ic`ty Aqy 4 lwl bMty hn[ jykr ies bksy iv`coN ie`k bMtw Acwnk k`iFAw jWdw hY

qW kI sMBwvnw hovygI ik ieh bMtw kwly rMg dw hovy[   (a)   
2

9
       (b)  

4

9
       (c)  0       (d)  1 

73. iehnw iv`coN ikhVI iksy Gtnw dI sMBwvnw nhIN ho skdI[ (a)   
2

3
(b) −1.5     (c)   15%    (d)  0.7

74. iksy Gtnw dI sMBwnvw _____ qoN v`fI jW ausdy brwbr huMdI hY Aqy ____ qoN CotI jW ausdy brwbr huMdI hY[

75. iksy pRXog dIAW swrIAW AwrMiBk GtnwvW dIAW sMBwvnw dw joV _____ hY[

mh`qvpUrn PwrmUly: (AiDAwie: 14) 

m`Dmwn (𝐗 ) = 
 𝒇𝒊𝑿𝒊

 𝒇𝒊
     m`iDkw (𝐌) = 𝐋 +

𝒏

𝟐
−𝒄𝒇

𝒇
× 𝒉

bhulk (Z) = 𝐋 +
𝒇𝟏−𝒇𝟎

𝟐𝒇𝟏−𝒇𝟎−𝒇𝟐
× 𝒉
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  au~qrmwlw 

1. shI 2. 9 3. l.s.v 4. Swq 5. shI 6. 12 7. shI

8. shI 9. shI      10.   (a)  2  (b)  3 11. 2 12. ryKI 13. 2 14. 0

  15. 
−𝑏

𝑎
 ,

𝑐

𝑎
16. −7 ,  10 17. 𝑎𝑛 = 𝑎 +  𝑛 − 1 𝑑      18.    𝑆𝑛 =

𝑛

2
 2𝑎 +  𝑛 − 1 𝑑 

19. 4 20. −2 21. 4 , 1 ,−2 ,−5 22. 8 23. −6

24. 𝑥2 − 𝑥1 
2 +  𝑦2 − 𝑦1 

2 25. 𝑥2 + 𝑦2 26. (0,0)  27. 
 𝑥1+ 𝑥2

2
,

 𝑦1+ 𝑦2

2

28. kotI      29.   Buj       30.   3 , 4 31. (𝑥, 0)     32.  (d) (0,𝑦) 33. 0     34.   smryKI

35. glq   36.   glq 37. 1      38.   0 39. shI      40.   glq      41.
1

2
42. shI

43. glq   44.   glq 45. glq   46.   shI     47.   1      48.   1 49. 1      50.   9

 51.  
𝜃

360
× 𝜋𝑟2     52. 

𝜃

360
× 2𝜋𝑟      53.   

P

720 
× 2𝜋𝑟2      54.   (a)   2 iekweIAW

 55. 
𝜋𝑟2

4
56. shI 57. shI 58. glq 59. shI

 60.   
1

3
𝜋ℎ(𝑟1

2 + 𝑟2
2 + 𝑟1𝑟2) 61. 𝜋(𝑟1+𝑟2)𝑙 62. 𝜋 𝑟1+𝑟2 𝑙 + 𝜋𝑟1

2 + 𝜋𝑟2
2

63. SMkU dI iCMnk   64.    𝜋𝑟𝑙   65.
4

3
𝜋𝑟3     66.    216      67.   Gxwv   68. 0.95

69. glq   70.   1 71. 0 72. (c) 0 73. (b)  −1.5 74. 0  , 1      75.   1

mh`qvpUrn PwrmUly: (AiDAwie: 4) 
do GwqI smIkrx 𝑎𝑥2 + 𝑏𝑥 + 𝑐  iv`c 
1. ifsikRmInYNt  𝐃 = 𝑏2 − 4𝑎𝑐

2. do GwqI smIkrx dy mUl   𝑥 =
−𝑏+ 𝐷

2𝑎
 , 𝑥 =

−𝑏− 𝐷

2𝑎
 

3. do GwqI smIkrx dy mUlW dI pRwikRqI
(a) jykr D = 𝑏2 − 4𝑎𝑐 > 0 hovy qW iBMn-iBMn vwsqivk mUl huMdy hn[
(b) jykr D = 𝑏2 − 4𝑎𝑐 = 0 hovy qW brwbr vwsqivk mUl huMdy hn[
(c) jykr D = 𝑏2 − 4𝑎𝑐 < 0 hovy qW koeI vwsqivk mUl nhIN huMdw hY[
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